
Name: Answer KeyMultiplying Using Arrays

Math www.CommonCoreSheets.com 3 1-6 83 67 50 33 17 0

Answers

1. 3,016

2. 1,188

3. 1,518

4. 3,060

5. 2,964

6. 1,554

Use the array provided to solve each problem.

1) 52×58 =

50

50

2

(50 × 50)
2,500

(2 × 50)
100

(2 × 8)
16

8

(50 × 8)
400

2) 36×33 =

30

30

6

(30 × 30)
900

(6 × 30)
180

(6 × 3)
18

3

(30 × 3)
90

3) 33×46 =

30

40

3

(30 × 40)
1,200

(3 × 40)
120

(3 × 6)
18

6

(30 × 6)
180

4) 45×68 =

40

60

5

(40 × 60)
2,400

(5 × 60)
300

(5 × 8)
40

8

(40 × 8)
320

5) 52×57 =

50

50

2

(50 × 50)
2,500

(2 × 50)
100

(2 × 7)
14

7

(50 × 7)
350

6) 42×37 =

40

30

2

(40 × 30)
1,200

(2 × 30)
60

(2 × 7)
14

7

(40 × 7)
280
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